
August	27,	2025	
Banana	Lovers	Day	

Today	in	History:	

The	Battle	of	Brooklyn	(1776)	
Krakatoa	erupts	(1883)	

Number	of	the	Day:		676	

	 676	=	2	x	2	x	13	x	13	
676	is	the	smallest	palindromic	square	whose	square	root	is	not	
palindromic.	

Fun	Fact:	

You	can	hear	a	blue	whale's	heartbeat	from	more	than	2	miles	
away.	

Quote	of	the	Day:	

"Be	thankful	we're	not	getting	all	the	government	we're	paying	
for."	

-	Will	Rogers	
Today’s	Weather:	

Sunny,	high	near	72o	
	

	



Math 121

Quiz #2

If cos ω = 2
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INVERSE FUNCTIONS
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HYPERBOLIC TRIG FUNCTIONS
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